A/NZH ArP. OIKONOMIAZ &
KTHNIATPIKHZ NE EBPOY

TMHMA TOIMNOrPA®IAL EMOIKIZMOY

& ANAAASMOY

TOMOIPA®IKO AIATPAMMA
TEMAXIOY MNMPOZ EKMIZOQZH 2TO

ArPOKTHMA:ZIAHPQ
KAIMAKA: 1/ 1500

E1= 14 1133 3106 = 2580 T..

E2=T1u 1134 8100 = 4794 1.4.

MINAKAZ XYNTETATMENQN
TON KOPY®ON TOY

a/a X Y AtrooTdoeig
A 681241.64| 4566786.77 -
B 681343.88| 4566667.07 A-B:157.42
r 681346.06 | 4566668.28 B-T:2.49
A 681348.44| 4566675.03 r-A:7.15
E 681350.03 | 4566690.51 A-E:15.56
Z 681352.41 4566702.41 E-Z:12.14
H 681348.04| 4566716.70 Z-H:14.94
€] 681358.49| 4566727.29 H-0:14.87
| 681360.33| 4566729.16 ©-1:2.63
K 681274.50| 4566825.87 |- K:129.31
A 681252.36 | 4566802.32 K-A:32.32
A 681241.64| 4566786.77 18.89

Eppadov Tepayiou = 7373.92 1..

AAEZ/MOAH 2/ 12 /2018
O ZYNTA=ZAZ

XATZHOIAINNIAHE ZTAYPOZ
TOMOMPA®OZ MHXANIKOX




